


Part | 60% %

1. The cross elasticity of demand for product X with respect to the price of product Y is =i
It can be inferred (zUii¥) (Say) that X and Y are
A. substitute products, -=-
complementary products,
C. luxury products.
D. unrelated or independent products:-s

'Q//z. Utility maximization is done to achieve the following:
7" A, derive (3Ulil) consumer demand,
show income and substitution effect,
C. derive the income-expansion path,

@ all of the above,
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3. In the figure 2 above, curves 1, 2, 3, and 4 represent the
A. ATC, MC, AFC, and AVC curves, respectively.
B. MC, AFC, AVC, and ATC curves, respectively.

MC, ATC, AVC, and AFC curves, respectively,
D. ATC, AVC, AFC, and MC curves, respectively,

- In the immediate market period for a highly perishable crop ( «akll & J paaa) like
tomatoes, the individual farmer's supply curve tends to be

A Dpetfectly inelastic,

B, perfectly elastic.,

C. Very elastic, but not perfectly *
D. downward-sloping, .




5. The law of diminishing marginal utility explains why
. supply curves slope upward.
demand curves slope downward,
C. addicts (Usiexdll) can never get enough drugs,
D. people will only consume their favorite goods and not try new things.

/Essential" ($os02) water is cheaper than "nonessential" ($os0= nt) diamonds (< s saa)

because
A. new industrial uses for diamonds have been discovered,

/the supply of water is great relative to demand and the supply of diamonds is small relative

to demand.
C. although the total utility of diamonds is greater, their marginal utility is small.

D. the supply of diamonds is great relative to demand and the supply of water is small relative
to demand. *.
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/7. Suppose the total-revenue curve in Figure 1 above is derived from a particular linear

demand curve. That demand curve must be
A. inelastic for price declines that increase quantity demanded from 2 units to 3 units.

B. elastic for price declines that increase quantity demanded from S units to 6 units.

. inelastic for price increases that reduce quantity demanded from 4 units to 3 units.
lastic for price increases that reduce quantity demanded from 4 units to 3 units.
S g

if the product is a necessity (4_ .= 4.L.), rather than a luxury good (44 e daly
the greater the amount of time over which buyers adjust to a price change.

C. the smaller the proportion of one's income spent on the product, X

D. the smaller the number of substitute products available, X

/. The elasticity of demand for a product is likely to be greater,



o S
9, At an output level of 50 ynits per day, a firm has average total costs of $60 and average
variable costs of $35. Its total fixed costs are 25 - rye
A. $925. A\} @ = 5 = /'(:;-_, TyCe
$1,250. ia
C. $1,750. TEC=7 i "
D. $3,000. e
e

AL :
. Marginal product of labor refers to the o 2o
A. last unit of output produced by labor at the end of each period X

increase in“(‘)utput resulting from employing one more unit of labor.
C, total output divided by the number of labor employed. «
D. smallest unit of the output produced by labor. +

/l 1. Suppose that MUx/Py exceeds MUy/Py. To maximize utility, the consumer who is spending all
her money income should buy

A, less of X only if its price rises.

B. more of Y only if its price rises.

émore of Y and/or less of X.
D

more of X and/or less of Y. oy

2. A perfectly inelastic demand schedule ‘
A. rises upward and to the right but has a constant slope. o
can be represented (41ai ¢Sa)) by a line parallel to the vertical axis.
C. cannot be shown on a two-dimensional graph (s A s )% \
D. can be represented by a line parallel to the horizontal axis.

. To the economist, total cost includes
explicit and implicit costs.
B. neither implicit nor explicit costs.
C. implicit, but not explicit, costs.
D. explicit, but not implicit, costs,

'}/v( The slope of the total product curve is =--------- q
(Dmarginal product. W @ =
B. average product. D/() = 9/\’
C. marginal cost, [\’\

D. average fixed cost.

5. Utility refers to the
satisfaction that a consumer derives from a good or service.

B. rate of decline in a product demand curve,
C. relative scarcity of a product,
D, pleasure (sdl) of a product.






Part 1l 40%

1) [16 points) A consumer who buys two

Boods X and v i = =
income is $12/month, Her consumption schedyle js g\il:J/Iet: EZE;TP\)'("J‘ 2N EVz, the consumers

MU= 5TV Mux/py MUy | MUy/pPy
NG = — —
b 8 %
4 vl
6 6
2 Sl (S
V-5 4] 14
JE
a) [7 points] Calculate the MU and the MU per dollar for each good in the in the table
above, show the formulas for your calculations braf
Mu- STuU = i
Hoc sty O
o = SV
SRy ~ig
b} [3 points] What are the equilibrium ondij)ns that must be satisfied to get maximum
utility \ S
»\ﬁ . %\.( !
GYU\«,P = Hh

A 1G-1,8,-0 P o [ 2+ 1= 4 bﬁsrﬁﬁﬁ;&g*
B 1Qx=2@y=5 Reop [Hh+5 -F v T
Cc rigl Qj = G,P; :?,RJ:I @T\/\RS 6me

c) [3 points] How many units of X and Y will she purchase to mMy.

& ey &8 S0 \x"\rs Y.

d) [3 points] What is the Interpretation (_wil) of (MU/MUy}

While the Quowdivg s Tncreasig, Q |MJ MY,
Pae (MUK/MUj) 1% dec\reagiwa. = ’ﬁb—_—
; oL
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/ 2) [15 points] A firm has the following production relation

L Q &mﬂ
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6] 2350/ 34.9 | 12
7 244 | "3 342

8 241 Qo.125| =3

down the formulas you use In the space provided pelow.

L 0 AR -
MP = q,; L o, D LN
{9 —\Uo U8 — i O—
\ / ,,T/’ S Zul 21

b) [7 points] Plot (p-uu')@and @of labor in the space below,(the figure does not have to
be drawn to scale, just illustrate the general shape for the data above, Label your
axes).obal Jyaall o anll LaliVl g LaliiYl Jowa iyl Al el o)

(=l

Qro:vg Ed /\} w MR 1\
” %
Aot A/ " =
gredvet 158 <=

é%;& j ' >







